CITY OF NEW BEDFORD

APPLICATION FOR LAYING BUILDING SEWER AND/OR DRAIN SERVICE

Application	No	19623	Jan 31, 1974
			Date
To the Mayo	r and Cit	cy Council:	
I hereb	y request	*)	ling sewer and/or drain be laid for the premises at
	No.		a Sto. 50 = No of Potenska St.
to connect w	zith the s		in As Second street.
	be laid i		and the surface repaired as directed by the Commissioner of
I hereb work in the completion of	manner s	pecified, in	e office of the City Treasurer all cost of performing the above excess of the deposit made herewith, within 10 days after the
to the paym	ent of th	e cost of per	that the deposit made with this application shall be applied forming the work done, and that any excess of deposit over the he City Treasurer.
Witness	The Ca	macho	Saul & Broken
	P		Signature of Property Owner
			997 Glora Street
			Address / Telephone No.
			Plumber's Name
Paguiras sanarat			Trumber's Ivame
Requires separat	re entrance		Address
	P	ermits to In	dustrial and/or Commercial Applicants:
the Commiss	sioner of ing the	Public Wor	dustrial and/or commercial applicants only upon receipt by ks of such supplemental information as may be required by quantity of the proposed wastewater discharge.
This in	formation	n was submi	Signature of Applicant (owner)
	/		· · · · · · · · · · · · · · · · · · ·
and approve	ea by th	e Commissio	ner of Public Works on
			Commissioner of Public Works
			mate and Deposit Requirement
			Office of Commissioner of Public Works, Jan 31, 74
My esti	mate of is	the cost of l	laying the building sewer and/or drain described in the above
Assessed		-	5 2 1/ 00/10
Entrance ch	arges	••••••••••••	Total deposit required \$314.00/100
			Commissioner of Public Works KC
			Commissioner of Public Works
			Certificate of Issue
			Office of City Clerk, Jan 21, 74
The al	ove app	olication, ac	companied by City Treasurer's receipt presented this day;
			3.3 was issued, and the Commissioner of Public Works
notified of t	he same.		6) - 1
			Celen M. Saughan City Clerk Ke
Owner agrees t	o supply a	to property l	ine. ter-

appensed)

L. Company	SSIONER OF PUBLIC WORKS
Length of service	illed 4/25/74 @
Sewer depth	pipe system
Surf. drain	
Suri. drain	Contractor's Name
	(if working on City Property)
Drain Permit Nº 19623	f New Bedford,
Drain Permit Nº 19623	Office of D. P. W. Jan 31, 1974
	Office of D. P. W., Date
To Commissioner of Public Works.	V SALES OF THE SAL
Permission has this day been issued to	
Parok Ba elem	997 Kland Street
Signature of Property Owner	Address
By	
	Address
to lay a building sewer/drain service from t	
It, 501 to no af Peter	
to connect with the sewer/drain in	So seesed street.
Laid from main in street to property line.	^ /
Owner agrees to supply all necessary materials	By Celen M. Saughan
and transito pipe.	0 RC
Requires separate entrance for sewage and roof	water

Roll #12

RETURN OF FOREMAN

	RETURN OF FOREMAN	
	Entered Mar. 19, 20,	1974
	Time 10. A.M.	
	By Jone Im Jovnes	
	COST	
	A STATE OF THE STA	
	Labor hours @	
	Tosse Tovores 8 " 4.33	34.64
	Volot 5 [Piere 8 " 3.64	29.12
	Jorterriers 8 3.74	29.92
-	Jim Lemos 3" 3.11	9.33
2 14	106 1015 (690 8 3.80	30.88
	10M parre & 3.00	29.44
1	Fronk Ferriere 5 " 3.34 Stock	16.70
	+ 40	1 203
	100/65 5 and @ .09cwt	09/0
	1-16 Jute @ .36	.36
lepan'	STreet YOX3 B. T. STreet @ 7.85 +1;	11900
'	walk 813 B. T. 2 7354 @ 2775	733
	Trucking	100
ordan	nct 35-3-HRS, @6.55 -	19.65
Dodge.	- 116-2-HRS @3.00 -	6.00 /
ompre	3.35	
ompro.	SS.52-1-HR, @3.35 - Total Cost	337.05
	Estimate-cost of laying drain 219	00/
	Entrance charges assessed	4-15
	Total deposit	
, A	Balance due	123 05
-8	(5) 4 do Protoca 1	-2 flx
2	Pieces pipe to curb 5) 4-10 footers 1	600
	" " curb to house 1-8H. ["	
}	Cut at sewer 6 2	
	Cut at curb 5 ft	
5	Size of pipe & Toon site	it V
	Correct	
	1 , 4	
	Losal van Jones	Foremen
		roreman